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(GCF-1,2,3,4,5+6,19,20,21,22,23, VDCF-1 & 2, VCF-1,2 & 4,  
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DATE: 11.09.2020 MAXIMUM MARKS: 100  TIMING: 3 Hours 
 

  BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING 
 

Question No. 1 is Compulsory. Answer any four question from the remaining five questions. 
Wherever necessary, suitable assumptions should be made and disclosed by way of note 

forming part of the answer.  
Working Notes should from part of the answer.  

 

 

Answer 1:  

(a) dEiuh vf/kfu;e 2013 dh /kkjk 2¼68½ ds vuqlkj izkbZosV dEiuh ls vk’k; og dEiuh ftldh U;wure 

va’kiwath mruh gksxh tks fu/kkZfjr dh tk;sxh vkSj dsoy ,d O;fDr dks NksMdj mlesa lnL;ksa dh lhek 

200 rd jgsxhA ijUrq nks yksxks us la;qDr uke ls va’k ys j[ks gS rks mUgsa ,d gh ekuk tk;sxkA 

dEiuh ds depkfj;ksa dks rFkk dEiuh ds iqjkus deZpkfj;ksa dks 200 lnL;ksa dh x.kuk esa 'kkfey ugha 

fd;k tk;sxkA  

dEiuh dks lnL;ksa dh lhek esa dVkSrh ugha djus iMsxh D;ksafd dEiuh ds lnL; 200 gh gksrs gSA tks 

fuEufyf[kr :i ls crk,s x;s gS& 

funs’kd vkSj muds fj’rsnkj  =  190 

5 tksMs ¼5 x 1½    =      5 

vU;     =      5 

dqy     =  200 
  vr% ;gk ij lnL;ksa dh la[;k esa deh djus dh dksbZ t:jr ugha gS D;ksafd lnL;ksa dh la[;k 200 

rd gh gSA 

 

Answer:  

(b) i{kdkjksa dk oS/kkfud nkf;Ro mRiUu djus dk bjknk gksuk pkfg,% lkekftd o ?kjsyw le>kSrs U;k;ky; 

}kjk izorZuh; ugha gksrs blhfy, vuqcU/k ugha curs ijUrq oS/k vuqcU/k curk gS ;fn le>kSrk LoHkkfod 

izse o yxko ls gks o le>kSrk fyf[kr gLrk{kj;qDr o iathd`r gksA 

 nh xbZ leL;k esa Jheku~ jes’k us viuh iRuh dks 50]000 :- vius tUefnu ij [kpZ djus ds fy, nsus 

dk opu fn;kA ckn eSa Jheku~ jes’k us opu dks iwjk ugha fd;k Jherh ykyh us okn izLrqr fd;kA  

og lQy gksxh D;kafd i{kdkjksa ds e/; fudV lEcU/k gSA le>kSrk izkd`frd Lusg ,oa yxko ds dkj.k 

gS o fyf[kr gLrk{kj;qDr o iathd`r gSA 

 

Answer: 

(c) iwokZf/kdkj vkSj eky dks ekxZ esa jksdus ds vf/kdkj esa vUrj 

     (DISTINCTION BETWEEN RIGHT OF LIEN AND RIGHT OF STOPPAGE IN TRANSIT) 

(i)  iwokZf/kdkj dk vk'k; eky ij foØsrk dk vf/kdkj cuk;s j[krk gS tcfd eky dks ekxZ esa jksdus dk 

vFkZ eky ij iqu% dCtk izkIr djuk gSA 

(ii)  iwokZf/kdkj ds lEcU/k esa eky foØsrk ds dCts esa gksuk pkfg;s tcfd eky ds ekxZ esa jksdus ds lEcU/k esa 

¼d½  foØsrk us eky ij ls dCtk lekIr dj fn;k gks ¼[k½ eky fdlh ekyokgd ds ikl gks ¼x½ Øsrk 

us eky dks izkIr ugh fd;k gSA 

(iii)  iwokZf/kdkj ml fLFkfr esa Hkh iz;ksx fd;k tk ldrk gS tc Øsrk fnokfy;k ugh gqvk gSA ijUrq eky dks 

ekxZ esa jksdus dk vf/kdkj rHkh iz;ksx fd;k tk ldrk gS tc Øsrk fnokfy;k gks x;k gksA 

(iv)  eky dks ekxZ esa jksdus dk vf/kdkj ogk¡ vkjEHk gksrk gS tgk¡ iwokZf/kdkj lekIr gksrk gSA bl izdkj 

iqokZf/kdkj dh lekfIr eky dks ekxZ esa jksdus dk vf/kdkj dk izkjfEHkd fcUnq gSA 
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Answer 2:   

(a) LLP ds lekesyu ds fofHkUu pj.k 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Answer: 

(b)    vkUrfjd izca/k dk fl)kar (Doctrine of Indoor Management)%& ;g jpukRed lwpuk ds fl)kar 

dk viokn gSA tc dksbZ Hkh O;fDr dEiuh ds lkFk vuqca/k djrk gSA rks ;g ekuk tkrk gSA fd mlus 

lhekfu;e o vUrZfu;e dh tkWp dj yh gSA ijUrq ml i{kdkj dk ;g nkf;Ro ugh gSA fd og dEiuh 

ds vkarfjd ekeyk fd tkWp djsaA mnkgj.k ds :Ik esa ;fn ,d dk;Z lhekfu;e o varZfu;e esa vf/kd`r 

gS rks ck/; i{kdkj ;g eku ldrk gSA fd dEiuh us vko’;d vkSipkfjdrkvksa dk ikyu dj fy;k 

gksxkA 

Royal British Bank V/s Turquand%& bl ekeys esa fnokfy;k dEiuh ds lapkyd vUrZfu;e ds 

vuqlkj ckW.M tkjh djds lkekU; lHkk esa izLrko ikfjr djds fu/kkZfjr dh xbZ] /kujkf’k m/kkj ys ldrs 

FksA lapkydks us fcuk dksbZ izLrko ikl djs Royal British Bank dks ,d ckW.M tkjh dj fn;kA ;g 

fu.kZ; fn;k x;k fd ckW.M ds vk/kkj ij okn izLrqr fd;k tk ldrk gS D;ksfd Bank ;g ekuus dk 

vf/kdkjh gSA fd dEiuh us vko’;d izLrko ikfjr dj fy;k gksxkA  

viokn%& 

1- tc ckgjh i{kdkj dks vfu;ferrk fd Li"V ;k jpukRed tkudkjh gks%  

Howard V/s Patent Ivory manufacturing company. 

Lakpkyd ftUgsa _.ki= tkjh fd, x, gS] og ;g cpko ugh ys ldrsA D;ksafd mUgsa bl ckr 

fd tkudkjh FkhA fd dEiuh }kjk _.k ysus ds fy, lkekU; lHkk es lnL;ksa fd lgefr 

vfuok;Z gSA  

2- vfu;ferrk dk lansg @ykijokgh ;k vuns[kh% vkarfjd izca/k dk fl)kUr mu ij Hkh ykxw 

ugh gksrk tks bu izi=ksa dh vuns[kh djrs gSA blfy,] ;fn dEiuh dk dksbZ vf/kdkjh dksbZ 

,slk dke djrk gS tks fd mlds vf/kdkj {ks= esa ugh gks rc igys vuqca/k djus okys O;fDr 

dks bl laca/k es tks tkWp dj ysuh pkfg, vkSj vius vkidks bl lEca/k esa larq"V dj ysuk 

pkfg,A ;fn og ,slk dke djus esa vlQy gksrk gSA rks mls bl fl)kr dk lgkjk ugh ysus 

fn;k tk,xkA  

okn%& vkuUn fcgkjh yky cuke fnu’kk ,.M da- ¼cSadlZ½ fy- ds okn esa ;g crk;k x;k gS fd 

dEiuh ds ys[kkiky us dEiuh dh dqN lEifr;kW vkuUn fcgkjh yky ds i{k esa varfjr dj 

nhA bl ij tc vkuan fcgkjh ds }kjk okn yk;k x;k rks U;k;ky; us dgk fd ;s vuqca/k O;FkZ 

gS D;ksafd dEiuh ds ys[kkiky ds }kjk dEiuh dh lEifÙk dks cspus dk dksbZ Hkh Li"V vf/kdkj 

ugha FkkA 
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3- tkylkth%& ;fn tkyh gLrk{kj fd, tkrs gSA rks vkUrfjd izca/k ds fl)kar dk cpko ugh 

fy;k tk ldrk D;ksafd tkylkth 'kwU; gksrh gSA  

Ruben V/s Great Fingall consolidated-  

rF; & bl ekeys esa dEiuh lfpo us va’k izek.k i= ij dEiuh fd lkoZeqnzk yxk nh Fkh vkSj 

nks lapkydksa ds tkyh gLrk{kj ekjdj izek.k i= tkjh dj fn;k FkkA oknh us vakrfjd izca/k 

ds fl)kar dk cpko fy;kA  

fu.kZ; & ;g fu.kZ; fn;k x;k  fd og lQy ugh gksxkA D;ksafd tkylkth 'kqU; gksrh gSA   

 

Answer 3: 

(a) Hkkjrh; lk>snkjh vf/kfu;e 1932 dh /kkjk 33 ds vuqlkj ,d lk>snkj dks lk>snkjksa ds chp vuqcU/k 

}kjk iznÙk 'kfDr;ksa ds vuqHkko esa ln~HkkoukiwoZd gVkus ds flok; lk>snkjksa ds cgqer }kjk QeZ ls ugha 

gVk;k tk ldrk gSA bl izdkj ;g vko';d gksrk gS fd & (i) fu"dklu dh 'kfDr lk>snkjksa ds chp 

vuqcU/k esa fo|eku gksuh pkfg;s] (ii) bl 'kfDr dks lk>snkjksa }kjk cgqr ls ykxw fd;k x;k gksuk 

pkfg;s] rFkk (iii) ;g ln~HkkoukiwoZd ykxw dh tkuh pkfg;sA  

;fn ;s lHkh 'krZ fo|eku ugha gksrh rks fu"dklu dks QeZ ds O;olk; ds okLrfod fgr esa ugha le>k 

tk;sxkA  

Hkkjrh; lk>snkjh vf/kfu;e] 1932 dh /kkjk 33(1) ds vUrxZr visf{kr ln~Hkkouk dk ijh{k.k fuEu 

rhu ckrksa dk lekos'k djrk gS %&  

(a) fd fu"dklu lk>snkjh ds fgr esa gksuk pkfg;sA 

(b) fd gVk;s tkus oyks lk>snkj dks Hkyh&Hkkafr lwpuk nh tkrh gSA 

(c) fd mldks lquokbZ dk volj fn;k tk;sA 

uksV %& ;fn fdlh lk>snkj dks vU;Fkk gVk;k tkrk gS] rks fu"dklu O;FkZ rFkk izHkko 'kwU; gksrk gSA 

vr% lk>snkj B dk fu"dklu oS/k ugha gSA 

mi;qDr oS/kkfud izko/kku ds vuqlkj ge ;g dg ldrs gSa fd B dk fu"dklu vfu;fer gS rFkk 

bldk izHkko 'kwU; rFkk O;FkZ gksxkA  

 

Answer: 

(b) oLrq fodz; vf/kfu;e 1930 dh /kkjk 50 ds vuqlkj eky dks ekxZ dks jksdus ds vf/kdkj ds fuEu fu;e 

gS A  

bldk vFkZ eky ij dCtk iqu% izkIr djus dk vf/kdkj gksrk gSA tc eky dk Øsrk fnokfy;k gks tkrk 

gS rks vnÙk foØsrk ftlus vius eky ij dCtk NksM+ fn;k gS vkSj mls ,d ekyokgd dks lkSai fn;k gS 

og eky dks ekxZ esa gh jksd ldrk gSA 

 foØsrk ds }kjk blh vf/kdkj dk iz;ksx rHkh fd;k tk ldrk gSA tc fuEufyf[kr 'krsZ iwjh gks% 

(a) foØsrk vnÙk foØsrk gks 

(b) mlus eky ij ls dCtk NksM+ fn;k gksA 

(c) eky ekxZ esa gksuk pkfg;s 

(d) Øsrk fnokfy;k gks x;k gksA 

(e) ;g vf/kdkj vf/kfu;e ds izko/kkuksa ds vUrxZr gksA 

bl ekeys esa jke dikl dh 100 xkBsa tks jsyos }kjk ;k ek/;e ls Hksth xbZ gSA mUgsa jkLrs esa jksd 

ldrk gSA D;ksafd eky vHkh&Hkh jkLrs esa gSA ijUrq yksjh ds ek/;e ls Hksth xbZ 100 dikl dh xkBs 

ftudh lqiqnxhZ Øsrk dks dh tk pqdh gSA mUgsa jkLrs esa jksdk ugh tk ldrkA D;ksafd eky 

ikjs"k.k@jkLrs esa ugha gSA  

 
Answer: 

(c) oLrq foØ; vf/kfu;e /kkjk 15 ds vuqlkj ^^;fn oLrq dk foØ; uewus ,oa o.kZu nksuks ds vk/kkj ij 

foØ; fd;k tkrk gS rks oLrq nksuksa ds vuq:Ik gksuh pkfg,A  
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bl ekeys esa oLrq uewus ds vuqlkj gSA ijUrq o.kZu ds vuqlkj ¼ Darjeeling Tea ½ ugha gSA blfy, 

o.kZu ,oa uewus lEcfU/kr xfHkZr 'krZ Hkax gqbZ gS vkSj Hkw"k.k pk; dks okil dj ldrk gSA vkSj iSls okil 

ys ldrk gSA  

 

Answer 4: 

(a) Hkkjrh; vuqca/k vf/kfu;e 1872 dh /kkjk 59&61 ds vuqlkj Hkqxrku dk fofu;kstu ds fy, fuEu 

izko/kku gS A Hkqxrku dk fu;kstu  (Appropriation Of Payments):- "tc dksbZ nsunkj ftls fdlh 

O;fDr ds dbZ _.k nsus gS] mldks Li"V lwpuk ds lkFk ;k xfHkZr ifjfLFkfr;ksa ds vUrxZr fd og _.k 

fo'ks"k ds ifj'kks/ku gsrq Hkqxrku dj jgk gS] Hkqxrku djrk gS] rks ;fn Hkqxrku Lohdkj dj fy;k tkrk 

gS] rks mls mlh vuq:i ykxw fd;k tkuk pkfg;sA" 

ySfVu Hkk"kk dk fl)kUr gS tks Hkqxrku fd;k tkrk gS] og Hkqxrku dj jgs i{kdkj dh Hkkouk ;k rjhds 

ij fuHkZj djrk gSA 

(a) _.kxzfgrk ds vuqlkj Hkqxrkuksa dk fu;kstu /kkjk 59 (Appropriation of Payment when 

Debtor Gives Any Direction) %& Hkqxrku dk fu;kstu _.kxzfgrk ds dFkukuqlkj fd;k 

tk;sxkA mi;qDr oS/kkfud izko/kku ds vuqlkj ge ;g dg ldrs gSa fd fe- nkrwey lgh gSa 

vkSj mUgksaus ftl rjhds ls dgk gS mlh rjhds ls Hkqxrku dk fu;kstu fd;k tk;sxkA  

(b) Hkqxrkuksa dk fu;kstu tc _.kxzfgrk lek;kstu ds ckjs esa dqN ugha dgrk gS /kkjk 60 

(Appropriaton of Payment When Debtor has not Given Any Direction) %& tc 

_.kxzfgrk }kjk _.knkrk dks _.kksa dk Hkqxrku fd;k tkrk gS] fdUrq tc _.k ,d ls vf/kd 

gks vkSj ;g _.kxzfgrk }kjk Li"V ugha fd;k tk;s fd dkSulk _.k lek;ksftr djuk gS] rks 

bl voLFkk esa _.knkrk }kjk viuh bPNkuqlkj _.kksa dk lek;kstu fd;k tk;sxkA mi;qDr 

izko/kku ds vuqlkj ge ;g dg ldrs gS fd fe- nkrwey vxj ugha crkrs gS fd _.k dk 

fu;kstu fdl rjhds ls djuk gS rks fe- lksuwey ysunkj viuh bPNk ls Hkqxrku dk fu;kstu 

dj ldrs gSaA  

(c) Hkqxrku dk vuqHko tc dksbZ i{k fu;kstu u djsa /kkjk 61 (Application of Payment 

Where Neither Party Appropriates) %& tc dksbZ i{kdkj fu;kstu ugha djrk rc 

Hkqxrku dks le; Øe ls _.kksa ds 'kks/ku esa dke yk;k tk;sxk] pkgs oknksa dh le; lhek ds 

fy, ykxw rRdkyhu lfUu;e }kjk os dkykrhr gS ;k ughaA ;fn _.k ,d lh vof/k ds gS] rks 

lHkh ds fy, Hkqxrku vkuqikfrd :i ls ykxw fd;k tk;sxkA mi;qDr izko/kku ds vuqlkj ge 

dg ldrs gSa fd vxj fe- nkrwey vkSj fe- lksuwey nksuksa gh Hkqxrku ds fu;kstu ds ckjs esa 

ugha dgrs gSa rks Hkqxrku dk fu;kstu vuqikfrd :i esa fd;k tk;sxkA  

  
Answer: 

(b) 
(a) Hkkjrh; vuqcU/k vf/kfu;e 1872 dh /kkjk 20 ds vuqlkj rF; dh xyrh ds dkj.k vuqcU/k O;FkZ gksrk gSA 

;gk¡ ij fo"k; oLrq ds vfLrRo ls lEcfU/kr rF; dh xyrh dk ekeyk gS D;ksafd le>kSrs ds le; ?kksM+k 

ej pqdk gSA nksuksa i{kdkjksa dks bldks tkudkjh ugha gS f}i{kh; xyrh ds dkj.k le>kSrk O;FkZ gSA  

(b) Hkkjrh; vuqcU/k vf/kfu;e 1872 dh /kkjk 27 ds vuqlkj O;kikj esa :dkoV Mkyus okys le>kSrs O;FkZ 

gksrs gS ijUrq [;kfr ds foØ; ds ekeys esa Øsrk foØsrk ij izfrcU/k yxk ldrk gS fdog ml izdkj 

dk O;olk; ugha djsxk ij izfrcU/k mfpr gksuk pkfg,A ijUrq bl ekeys esa izfrcU/k ges’kk ds fy, o 

Hkkjr esa fdlh Hkh LFkku esa O;olk; dks euk djrk gSA blhfy, O;kikj esa :dkoV Mkyus ds dkj.k 

le>kSrk O;FkZ gSA  

(c) vuqcU/k vf/kfu;e ds /kkjk 2 (j) ds vuqlkj ,d vuqcU/k tc U;k;ky; }kjk izoZruh; ugha jgrk O;FkZ 

cu tkrk gSA bl ekeys esa fe- X us izdk’kd dks iqLrd fy[kus dh lgefr nh ijUrq dqN fnu ckn X 

dh nq?kZVuk esa e`R;q gks tkrh gSA ;gk¡ ij fu"iknu dh vlEHkork ds dkj.k vuqcU/k O;FkZ gks tk;sxkA  
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Answer 5: 

(a) dEiuh vf/kfu;e] 2013 ds vUrxZr ,d futh dEiuh ds lHkh lnL;ksa dh e`R;q%& ,d la;qDr LVkWd 

dEiuh ,oa fVdkÅ laLFkk gSA bldh vk;q blds fdlh vFkok lHkh lnL;ksa vFkok funs’kd ¼funs’kdksa½ 

dh e`R;q] fnokfy;kiu vFkok lsokfuo`fr ij fuHkZj ugha gSA va’kksa dk gLrkUrj.k ;ksX;rk vFkok gLrkadu 

;ksX;rk dEiuh ds 'kk’or vfLrRo esa lgk;d gSA dkuwu bls mRiUu djrk gS rFkk dsoy dkuwu gh 

bldk lekiu dj ldrk gSA lnL; vk;s] lnL; tk,s] ysfdu dEiuh ges’kk pyrh jgrh gSA 

blfy, ,slh n’kk esa ABC izkbosV fy- dk vfLrRo lekIr ugha gqvkA va’kks ds gLrkadu ds }kjk va’k 

muds dkuwuh mRrjkf/kdkfj;ksa dks gLrkafdr gks tk,axsaA dEiuh dk vfLrRo dsoy lekiu ij gh lekIr 

gksxkA  

blfy, lHkh lnL;ksa dh e`R;q ¼;kfn 5 lnL;½ ls Hkh ABC fy- dk vfLrRo lekIr ugha gqvkA  
 

Answer: 

(b)  iwokZf/kdkj (Right of lien) (/kkjk 47-49) % ;fn eky vHkh vnÙk foØsrk ds gh dCts esa gS rks og mls 

ml le; rd jksds j[k ldrk gS tc rd dh lEiw.kZ ewY; dk Hkqxrku u gks tk, vFkok Hkqxrku dk 

oS/k izLrko u fd;k tk;sA vnÙk foØsrk ds bl vf/kdkj dks ewY; ds Hkqxrku ugha gksus rd eky dks 

jksds j[kus dh iwokZf/kdkj dgrs gSaA ;g vf/kdkj fuEufyf[kr ifjfLFkfr;ksa esa gh mi;ksx esa yk;k tk 

ldrk gS % 

(a) tc eky m/kkj ugh cspk x;k gks 

(b) tc eky m/kkj cspk x;k gS ysfdu m/kkj dh vof/k lekIr gks pqdh gksA  

(c) tc Øsrk fnokfy;k gks x;k gksA 

xzg.kkf/kdkj dk iz;ksx rc Hkh fd;k tk ldrk tc lEifr Øsrk dks gLrkUrfjr gks pqdh gksA 

  ,d vnÙk foØsrk fuEufyf[kr ifjfLFkfr;ksa esa viuk iwokZf/kdkj [kks nsrk gS % 

1- tc og Øsrk rd eky igq¡pkus ds mÌs'; ls eky dks fdlh ekyokgd vFkok fu{ksid dks lkSai 

nsrk gSa ijUrq eky ds fuiVkjs ds vius vf/kdkj dks lqjf{kr ugha j[krk gSA 

2- tc Øsrk vFkok mldk ,tsUV oS/k :i ls eky dk dCtk izkIr djrk gSA 

3- tc foØsrk us vius iwokZf/kdkj dk ifjR;kx dj fn;k gSA 

4- xR;kojks/k ds }kjk & tc foØsrk bl izdkj O;ogkj djrk gS ftlls rhljs i{k dks ;g 

fo'okl gks tkrk gS fd iwokZf/kdkj fo|eku ugha gSA 

/kkjk 49 ¼2½ ds vuqlkj ,d vnRr foØsrk dk xzg.kkf/kdkj bl dkj.k ls lekIr ugh gksxk fd mls 

eky ds ewY; ds fy, U;k;ky; dhs fMØh izkIr gks pqdh gSA  

 

Answer 6: 

(a) xfHkZr vf/kdkj {ks= ds ckgj dk;Z (Acts Beyond Implied Authority) /kkjk 19 %&  
;fn dksbZ QeZ ds fy;s dk;Z djrk gS] rks QeZ lk>snkj ds dk;Z ds fy, ftEesnkj ekuh tk;sxh] ijUrq 

;g fuEu izfrck/kkvksa ds lkFk gS %&  

 og O;kikj ls lacaf/kr fdlh fookn ;k >xMs dks iap fu.kZ; dks lkSais] D;ksafd ;g lk>snkjh QeZ 

dk lkekU; O;kikj ugha gS fd] fookn dks iap fu.kZ; ds fy, lkSaik tk;sA  

 vius uke ls QeZ ds fy;s [kkrk [kkSysA  

 QeZ ds rhljs i{k (dksbZ vtuch) ds fo:) nkos ds izfr le>kSrk djs vFkok nkos dqN Hkkx 

dk R;kx nsA 

 QeZ dh vksj ls fd;s x;s fdlh eqdnesa vFkok dk;Zokgh dks okfil ys ysaA 

 QeZ ds fo:) fd;s x;s eqdnesa vFkok dk;Zokgh es fdlh nkf;Ro dks Lohdkj djsA 

 QeZ dh vksj ls vpy lEifÙk izkIr djukA 

 QeZ dks fdlh vpy lEifÙk dk gLrkUrj.k djsA 

 QeZ dh fdlh lk>snkjh esa 'kkfey djsaA 
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Answer: 

(b) {N }kjk fd;k x;k nkok oS/k ugha gksxk D;ksafd fdlh ok;ns dks fuHkkuk ;k iwjk djuk ;k u djuk 

dsoy ok;nk Øsrk dh bPNk ij fuHkZj djrk gS}{1 M} {,slk dksbZ ok;nk vuqca/k ugha gksrk gS 

Hkkjrh; vuqca/k vf/kfu;e] 1872 dh /kkjk] 29 ds vuqlkj ,sls vuqca/k ftudk vFkZ ;k vfHkizk; fuf’pr 

u gks ;k ftUgsa lqfuf’pr u fd;k tk ldrk gks ,sls vuqca/k 'kwU; gksrs gSA}{2 M}  

 

Answer: 

(c) Hkkjrh; vuqca/k vf/kfu;e] 1872 dh /kkjk 27 ds vuqlkj ;fn dksbZ vuqca/k O;kikj ;k O;olk; dks 

izfrcfU/kr djrk gS rks ,slk vuqca/k 'kwU; ,oa voS/k gksxk] ijUrq lsok vuqca/k esa ;fn dksbZ O;fDr ,sls 

fdlh cU/ku ij lger gS fd tc rd og ogka ij lsokjr gS og vius fu;ksDrk dh izfrLi/kkZ esa dksbZ 

dk;Z ugha djsxk vkSj ijks{k ;k vijks{k :Ik esa dgha vkSj lsok ugha djsxk vkSj ,slk izfrca/k ;k jksd 

O;kikj ;k O;olk; ij jksd ugha ekuh tk,xhA  

 blfy, X dks yqf/k;kuk esa MkWDVj ds :Ik esa dk;Z djus ls jksdk tk ldrk gSA  
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PAPER : BUSINESS CORRESPONDENCE & REPORTING 
 

The Question Paper comprises of 5 questions of 10 marks each.  
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three. 

 

 

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS) 

 

Answer 7:  

(a) Passage 1 

 1. Globalisation, liberalisation, development of e-commerce and emerging  

global markets are forcing capital markets across the worldwide for 

integration. 

 2. (a) 

3. (b) 

4. (b) 

5. Increasing complexity of business transactions and globalisation of capital 

markets call for a single set of high-quality accounting standards. 

 

Answer: 

(b)  Based on Communication channels, there are three kinds of categories: 

 Verbal: Verbal communication involves the use of words and language in 

delivering the intended message 

 Non Verbal: Nonverbal communication is the process of communicating by 

sending and receiving wordless messages. These messages can aid verbal 

communication, convey thoughts and feelings contrary to the spoken words 

or express ideas and emotions on their own. 

 Visual: Visual communication through visual aids such as signs, typography, 

drawing, graphic design, illustration, colour and other electronic resources 

usually reinforces written communication. Visuals like graphs, pie charts and 

other diagrammatic presentations convey clearly and concisely a great deal of 

information. They are an essential part of official presentations these days. 

 

Answer: 

(c)  Select the suitable synonym for the given words. 

 1- (a) 

 2- (b) 

 

Answer 8: 

(a) XYZ Bank  

 Sector-19  

 Nerul 

 Navi Mumbai-06 

 10 December, 20XX 

 

 Chief Finance Officer  

 XP Ltd 

 Dadar  

 Mumbai-14 

 

Dear Sir/Ma‟am, 

 

Subject: Opening of our New Branch at Nerul, Navi Mumbai 
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We are happy to announce the grand opening of our bank‟s 150 branch in the Nerul, Navi 

Mumbai. 

As a privileged customer, we are pleased to offer you extra benefits for an account opening 

in the new branch. 

The new branch has locker facility and six ATM machines in your area. In  view of  our long-  

term association, we would not charge you any fees for locker facility. 

Kindly visit the new branch. Contact details are given below: 

 

88, Jame Jamshed Road  

Dadar 

Ph.: 011-255-90000 

Mumbai-14 

 

Yours 

R.P. Aneja  

(Brach Manager) 

 

Answer: 

(b)  The Characteristics of Effective Communication: 

 Communication for humans is akin to breathing. From the first cry of the baby to the 

last breath of a person, communication is an essential part of life. However, good 

communication is an art that has be developed and honed. Effective communicators 

practice every aspect of the skill frequently. 

 It is a fact that our everyday communication is often marred by confusion, 

misunderstandings, misconceptions, partial understanding and obscurity. Thus, 

several aspects must keep in mind while interacting with others for our 

communication to conveythe intended message. 

1. Clear: Any spoken or written communication should state the purpose of 

message clearly. The language should be simple. Sentences ought to be short 

as the core message is lost in long, convoluted sentences. Each idea or point 

must be explained in a separate bulleted points or paragraphs. Make it easy 

for the reader to grasp the intent of the communiqué. 

2. Concise: Brevity is the essence of business communication. No one has the 

time to read long drawn out essays. Besides, the core content is lost in 

elaborate details. Avoid using too many irrelevant words or adjectives, for 

example, „you see‟, „I mean to say‟, etc. Ensure that there are no repetitions 

3. Concrete: The content of your communiqué should be tangible. Base it on 

facts and figures. Abstract ideas and thoughts are liable to misinterpretation. 

Make sure that there is just sufficient detail to support your case/ argument 

and bring focus to the main message 

4. Coherent: Coherence in writing and speech refers to the logical bridge 

between words, sentences, and paragraphs. Main ideas and meaning can be 

difficult for the reader to follow if the writer jumps from one idea to another 

and uses contradictory words to express himself. The key to coherence is 

sequentially organized and logically presented information which is easily 

understood. All content under the topic should be relevant, interconnected 

and present information in a flow. 

5. Complete: A complete communication conveys all facts and information 

required by the recipient. It keeps in mind the receiver‟s intellect and attitude 

and conveys the message accordingly. A complete communication helps in 

building the company‟s reputation, aids in better decision making as all 

relevant and required information is available with the receiver. 
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6. Courteous: Courtesyimplies that the sender is polite, considerate, respectful, 

open and honest with the receiver. The sender of the message takes into 

consideration the viewpoints and feelings of the receiver of the message. 

Make sure nothing offensive or with hidden negative tone is included. 

7. Listening for Understanding: We are bombarded by noise and sound in all our 

waking hours. We „hear‟ conversations, news, gossip and many other forms of 

speech all the time. However, most of it is not listened to carefully and 

therefore, not understood, partially understood or misunderstood. A good 

listener does not  only  listen  to  the spoken words, but observes carefully 

the nonverbal cues to understand the complete message. He absorbs the 

given information, processes it, understands its context and meaning and to 

form an accurate, reasoned, intelligent response. 

The listener has to be objective, practical and in control of his emotions. Often 

the understanding of a listener is coloured by his own emotions, judgments, 

opinions, and reactions to what is being said. While listening for 

understanding, we focus on the individual and his agenda. A perceptive 

listener is able to satisfy a customer and suggest solutions as per the needs 

of the client 

8. Focus and Attention: Everyday work environment has multiple activities going 

on simultaneously. The ringing of the phone, an incoming email, or a number 

of tasks requiring your attention, anxiety related to work, emotional distress 

etc. can distract you. Such distractions are detrimental to the communication 

process with an individual or a group of people. You may overlook or 

completely miss important points or cues in the interaction. Thus, keeping 

your focus and attention during  the  communiqué  is imperative for effective 

communication. 

9. Emotional Awareness and Control: “Human behavior is not under the sole 

control of emotion or deliberation but results from the interaction of these two 

processes,” Loewenstein said. 

However, emotions play a major role in our interactions with other people. 

They are a powerful force that affect our perception of reality regardless of 

how hard we try to be unbiased. In fact, intense emotions can undermine a 

person‟s capacity for rational decision-making, even when the individual is 

aware of the need to make careful decisions. 

Consequently, emotional awareness is a necessary element of good 

communication. While interacting with another person or a group, it is 

important to understand the emotions you and he/ she/ they are bringing to 

the discussion. Managing your own and others emotions and communicating 

keeping in mind the emotional state of others helps in smooth interaction and 

breakdown of the communication process. 

 

Answer: 

(c)  Select the suitable antonym for the given words.  

 1. (c) 

 2. (b)  

 

Answer 9: 

(a) A-12F-Block, 

 C-16/A, Sector-04  

 Juinagar 

 Navi Mumbai- 400705  

 prashantkr.@gmail.com  

 09 December, 20XX 

{Each Point 1 M} 
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 The HRD 

 S.R. Pvt Ltd.  

 Andheri East  

 Mumbai- 400069 

 

 Dear Sir/Ma‟am, 

 

Subject: Application for the Post of Trainee Finance 

 

This is with reference to your advertisement in „Hindustan Times‟ dated 06 

December, 20XX, for the post of Trainee Finance in your organization. I wish to apply 

for the same. 

I am conscientious, punctual and open to learning. I have just completed CA 

Intermediate from ICAI. I am looking for positions as Trainee (Finance/Tax/Audit) for 

articleship. If given the opportunity, I am open to learning and prepared to work 

hard to enrich my knowledge. 

I am enclosing my résumé herewith for your reference. I shall be available for an 

interview through online or face to face on any day of your convenience. 

I look forward to a positive response! 

 

Your Sincerely, 

Prashant Kumar 

 

Enclosure: 

1. Résumé 

 

Curriculum Vitae 

RAVI PRAKASH GOEL 

A-12F-Block, 

C-16/A, Sector-04  

Juinagar 

Navi Mumbai- 400705  

Mob.: +91-XXXXX XXXXX 

Email: prashantkr.@gmail.com 

Profile: 

 Hardworking, punctual, strong team player 

 Confident working with computers and technology 

 

Educational Qualifications: 
S. 

No. 
Examination / 
Degree/Course 

Subject / 
Stream 

Institute / 
College 

Board / 
University 

Year of 
Passing 

Percentage/ 
Division 

1 CA Intermediate Finance, 
Taxation, 
Auditing 

ICAI, New Delhi ICAI, New 
Delhi 

Nov 2019 65% 

2 Higher Secondary Commerce St. Holly Public 

School, Mumbai 

CBSE 2014 87% 

3 Secondary Commerce St. Marry Public 
School, Mumbai 

CBSE 2012 85% 

 

Professional Skills: 

 Finance, Taxation, Auditing 

Intrapersonal Skills: 

 Excellent Communication Skills 

{2 M} 

{3 M} 
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 Highly organized and efficient 

 Ability to work independently 

 Ability to work in team 

 Proven leadership skills and ability to motivate 

Language Known: 

 English, Hindi, Marathi (Comm.) 

Hobbies: 

 Reading Novels, Travelling, Interacting with people 

Personal Details: 

 Father‟s Name:  XYZ  

Mother‟s Name:  XYX  

DoB:   XYZ 

Gender:  Male 

Nationality:  XYZ 

Marital Status: Single/Married 

References: 

Tripti Sharma    CA. Sanjay Mishra 

Assistant Professor   XYZ Associates,  

ABC College of Commerce 

XYZ University 

Email:xyz@gmail.com  Email: ******@gmail.com 

 

Declaration: I solemnly declare that the above information is correct to the best of 

my knowledge and belief. 

 

Date: XX December, 20XX 

Place: Mumbai       (PRASHANT KUMAR) 

 

Answer: 

(a) Idioms 

1) Option d 

2) Option b 

3) Option d 

 

Answer: 

(b) Star Network: has multiple channels of network in communication. This network 

allows a group communication and is useful especially where teamwork is involved. 

The members communicate and exchange information with each other freely, and 

without hindrance or hesitation. The usefulness of all networks depends on the 

structure and size of the company, and the manner of communication between the 

employees. 

 

Answer 10: 

(a) Date: 16 December 20XX 

Venue: Conference Room, II Floor  
Meeting Started at 04:00 P.M.  

Mr. A, Head of the Sales and Marketing, gave an introduction and purpose of the 

meeting.  

Mr. B, Product head spoke about the new product. 

Ms. C, Regional Manager, Business, gave a detailed project report. (market surveys, 

future aspects challenges included). 

Participants approved of Ms. C‟s report. Appreciated he meticulous detailing. 
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Mr. D, Marketing Head discussed the market scenario, demand and supply and 

customer interest. 

Mr. E, Head Finance, gave details of costing, Finance team led by Mr. F, Mr. G, and 

Ms. H were part of the presentation. 

The Head, Sales and Marketing declared an open house for participants to put up 

their concerns, and finally gave a vote of thanks. 

Proposals for more funds put forward. Tender to be released. 

ATR will be submitted by 22 December, 20XX. 

 

Answer: 

(b) Chain of Command: The communication pattern that follows the chain of command 

from the senior to the junior is called the chain network. Communication starts at the 

top, like from a CEO, and works its way down to the different levels of employees. It 

involves a lot of organizational hierarchy. 

Drawbacks: The chain network often takes up time, and communication may not be 

clear. It creates a lot of miscommunication as the message travels a long path. 

 

Answer:  

(c) Active-Passive Voice 

1. The work will be finished by them in a fortnight. 

2. Instructions will be given to you by the examiner.  

 

Answer 11: 

(a) Women in entrepreneurship 

According to the sixth Economic Census 2013-14, only 14% of the businesses in 

India are owned by women and are smaller as compared to men owned businesses. 

Out of these, 83% do not have any hired workforce. However, many women 

entrepreneurs have carved a niche   for themselves these are Kiran Mazumdar Shaw, 

Falguni Nayar and Ritu Dalmia. Self help groups and NGOs have helped women 

entrepreneurs in the rural sector. Still due to socio - cultural biases, it is onerous for 

married women in India to be an entrepreneur.  Managing a male workforce and 

accessing financial support are even bigger challenges. Policy interventions, 

mentoring women entrepreneurs by specialists can encourage women who intend to 

foray into entrpreneurship and specialized networking platforms for women can  

provide the much-needed support. 

 

Answer: 

(b)  Direct - Indirect 

1. The work will be finished by them in a fortnight. 

2. Why was such a message written by your friend? 

3. Instructions will be given to you by the examiner.  

 

Answer: 

(c) As we know, lacking language knowledge can create impediment in communication. 

Language varies individual to individual, place to place, region to region, and  

country wise. Same words may have different meaning in other language. Even 

jargon, unfamiliar expressions, and ambiguous words create hurdles in 

communication. This is fact that no two people speak or write alike. Some people use 

well-formed words while some of them is used ill-formed words. 
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